9 2017-2018%k Totar <Tal= = okt SITd=

(RS TR T4 H)
FHG YA o WY A Seed 3 foraor afraret et RIn
o eI
i G -14 I faumT & gsifvd ==
T Uit o
15,34,24 9.88.46 25,22,70
2403 Uy Ut
1 [XX] {101} (2549) #01 o9 “a, 7S 157,10 0 1,57,10
2 [XX] {101} (2549) #04 HECE =M 1050 15,70 26,20
3 [XX] {101} (2549) #25 WA ek gffEf 10,70 1,00,00 1,10,70
4 [XX] {101} (7471) #14 FEEEH ST 9,00,00 0 9,00,00
5 [XX] {101} (7826) 425 W SR gfiar 0 1,65,74 1,65,74
6  [XX] {109} (7403) #14 WEEH M 1,00,00 0 1,00,00
7 [XX] {113} (3784) #01 WG W, S 35,00 0 35,00
8 [XX] {113} (3784) #04 wEE A 0 450 450
9  [XX] {113} (3784) #25 wmEh iR gfdel 35,00 0 35,00
Bl 12,48,30 2,85,94 15,34,24
AT (T v ) - 2403 12,48,30 2,85,94 15,34,24
4403 Y] urer W ST ufiema
10 [XX] {001} (4297) #34 aTEAr w1 HA 1,20,00 1,20,00
11 [XX] {103} (3578) #28 WefH &R Sy 498,46 498,46
12 [XX] {109} (7403) #45 Usia ufkedfaar 335,00 335,00
frmfor
13 [XX] {800} (3784) #28 WEMA SR SUHAW 0 35,00 35,00
T 0 9,88,46 9,88,46
IR (o vt ) - 4403 0 9,88,46 9,88,46
AT ( Wi ) - 14 12,48,30 12,74,40 25,22,70
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9 2017-2018%k Totar <Tal= = okt SITd=

(RS TR T4 H)
FHG YA o WY A Seed 3 foraor afraret et RIn
Rl EeiCo
I §&T -41 Mg SISt SRS
TS Uit o
7,90,40 0 7,90,40
2403 Uy Ut

1 [XX] {101} (2549) #01 o4 T, Mg 86,00 0 86,00
2 [XX] {101} (2549) #04 SFECE A 5,75 8,65 14,40
3 [XX] {101} (25490 425 W SR qfdEr 6,00 0 6,00
4 [XX] {101} (7471) #14 FEEEH ST 6,84,00 0 6,84,00
plu 7,81,75 8,65 7,90,40
AT (1 v ) - 2403 7,81,75 8,65 7,90,40
T ( wimEE ) - 41 7,81,75 8,65 7,90,40
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9 2017-2018%k Totar <Tal= = okt SITd=

(RS TR T4 H)
FHF 3T T G WY A Sexd 3w faem et et RIn
o EeiCo
U G -64  3Fged Sfd Su=irstT
T Uit o
2,16,00 0 2,16,00
2403 Uy Ut
1 [XX] {10} (7471) #14 HEEEH STRH 21600 0 21600
Bl 2,16,00 0 2,16,00
I (e vt ) - 2403 2,16,00 0 2,16,00
T ( miT A ) - 64 2,16,00 0 2,16,00
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9 2017-2018%k Totar <Tal= = okt SITd=

(RS TR T4 H)
FHG YA o WY A Seed 3 foraor afraret et RIn
o EeiCo
i G -67  res fwtor @ - wam
T Uit o
0 2,63,45 2,63,45
4403 Y] Ut W St uiemd
(XX] {102} (2567) #27 g fmwU ®E 1,88,70 1,88,70
[XX] {800y (3784) #97 T & 0 74,75 74,75
B} 0 2,63,45 2,63,45
=T (orE vy ) - 4403 0 2,63,45 2,63,45
@ (( miEEn ) - 67 0 2,63,45 2,63,45
FqEE I - 22,46,05 15,46,50 37,92,55
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